Fad 2BERY I2FERS - £ ~ & 5 far 4 240324

B R
1.( ) =2 106x495= ?
(A) 49770 (B)50170 (C)52470 (D) 57970

2.( ) # 3012=300*+K » Al K Z{H %0 ?
(A)1 (B)31 (C)301 (D)601

3.( ) #54052=4002+a+5% - Hija 2 {H B2/ ?
(A)0 (B)400 (C)2000 (D)4000

4.( ) THIBERZER 53 —4x—3 ARG - A& FHE 2
(A)Z 2R x (LR TET
(B) = IHHIAEE 0
(C)—KIANAREIE 4
(DYHEEIEE 3

50 ) MEAETE N ITE?
(A)l (B)2 (C)400 (D)625

6.( ) g 3=In<5 AYIEEH n 5%/ (E ?
(A)17 (B)16 (C)3 (D)2

7.0 ) A5 AR (i e s 2
(A)1~2 (B)2-3 (C)3-4 (D)14-16

8. ) FHIS A E LR ?
(A6+\[2=43
(Bn6=2Y/3
(Cn12+1/4=1/3
(DV12=24/3

9.( ) FHIS A E EHE ?
(AN4x\[4=4
(B)6x~/6=2/6
(Cn/B+2=+/4
(DN/18+3=+/6




10.(

11.(

12.(

13.(

14.(

15.(

16.(

17.(

) ﬁ:ai\[%\/% ?

) EAAAHESEE oo P(—9, 10) ~ Q(—6, 10) /i BEAY RS A o] 2
(A)3 (B)6 (C)9 (D)15

) 5 2x°—x—3=(2x—3)(x+1) » HIFFIfal & (ERE ?
(A)2x°—x—3 By x+1 AR
(B)x—3 A& 2x>—x—3 YRR
(C)2x—3 By 2x>—x—3 1Ifz =t
(D)2x? —x—3 By x+ 1 f9fz =

) BRI 32— 11X+ 24 » BT T A —(Rl4s 2 2
(A) (x—1)(x—24)
(B) x—2)(x—12)
(C) (x—3)(x—8)
(D) (x—4)(x—6)

) FHIfaE R X2+ x—12 A 2
(A) x+2
(B)yx—2
(C)x+3
(D) x—3

) FHIMEE R X2+ 7x+12 BRI ?
(A)x+1 (B)x+2 (C)x+3 (D)x+6

) RS f# X2 —5x+4=(x+a)(x+b) » Ha>b» HJ2a+b=?
(A)—6 (B)—9 (C)6 (D)9

) EA1TA - BREL > 75 AxB=0 » Al 5I[{a[ 3 A 7
(AA=1HB=—1

(B)A=2 &} B= —2

(C)A=0 H.B=0

(D)A=0 5 B=0



18.( )3 & NAIWE—{E T3 =CH s 2
(A) (x—1)(x+3)=0
(B) (x—2)(2x—3)=0
(C)—2(x+5)(x—3)=0
(D) 4(x+3)>=0

19.( ) FHUHTHREK+1)x—5)=0 It ?
(A3 5
(B) 325
()55

(D)~ 355

20.( ) EHEEREx+1)2=441 > AL R AR Ry ] 2
(A)10 F1 11
(B)—10 F1—11
(C)10 #1—11
(D)—10 fi1 11

21.( )_EEENERTEER TR BN RS, o SRR AT ?
(A3 (B)10 (C)12 (D)20

22.( ) WEANF—IERESSHHE R ECEJTE - 41 150~155 A oriE—4HA
3N AlEtttE S/ DA ?

¥ 28
R 24
-~ 16
% 12

8
4

&
N
o
T T T T T T 17

150 155 160 165 170 175
F5 (A77)

(A)24 (B)25 (C)30 (D)36



23.( ) BB = AR BT A Bt A BEHT R - SRS 160 A%
E2IN:

40
f;%; 35
2 3
A20

15

10

5

0 55 1 1 1 1 1
140145150155160165170
s (Cm)

(A)13 (B)17 (C)30 (D)38

24.( ) MEDE R b = = DB RS AR R By BC i 418 - 55 60~65 AT 4 A
APt —3HA %D N7

fH 40

# 30

& 20

i%z 10

\WB 0 (G 1 1 1 1 1 1

'35 40 45 50 55 60 65
BeE (A7)

(A)30 (B)40 (C)50 (D)6O

25.( ) WEEEHREESER REXEACITaRE - SR AR EEW—40 2
2 50

030 35 40 45 50 55 60 65
feE (A7)

(A)35~40 AT

(B)40~45 /5T

(C)45~50 /5

(D)50~55 /AT



PN

El

1 2 3 4 5 6 7 8 9 10
C D B B C B A D
11 12 13 14 15 16 17 18 19 20
A D C D C A D C B C
21 22 23 24 25
B B C B B




